Stepwise procedure for solving regression analysis problem
1. Construct a figure by plotting X (independent variable) vs. Y (dependent variable)

2. Compare different regression models: linear, double reciprocal, …etc. (when appropriate) to best fit the given data

	Model
	Linear
	Exponential
	Reciprocal-Y

	Correlation Coefficient
	-0.995792
	-0.9864766
	0.59934

	R-squared
	99.1601
	97.3115
	92.1473

	Standard Error of Estimate
	0.14508
	0.0554375
	0.0216229


Note: Initial examination to the above data clearly demonstrates the suitability of the linear model in comparison to the other investigated models with regards to the following parameters:  Correlation Coefficient, R-squared, and Standard Error of Estimate
3. Since data were not given in replicate, a lack-of-fit test can’t be performed.
4. Examine different residual plots of the chosen model
Note: After further examination to the chosen linear model, we have found that the different residual plots have definite patterns (see the attached plots), which suggest that the liner plot is not an appropriate choice to the given data.  
5. Looking again to the models taking into considerations all the factors Correlation Coefficient, R-squared, Standard Error of Estimate, and the residual plot indicate that the best model is the exponential model 
Model: Y = exp (a + b * X)

Equation: Y = exp (2.19806 – 0.21094 * X)
